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Jaza nafasi 1-15 kwa neno lifaa/o 

Baba ni mkulima na _____ 1 ___ mwenye mbuzi ---=2--... na punda minoja. Mama ni 

mfanyibiashara Anauza ___ 3 ___ vidogo mitaani kwenye kibanda ___ 4......., __ • Pesa __ .,.....5 __ _ 

hazitoshi kwa mahitaji na ___ 6 _ ___,ya nyumba pamoja na ada ya shule. Mara ____ 7 ___ sisi hufukuzwa 

shuleni kwa 8 ______ karo. Ingawa wazazi wetu wanajitahidi kutulipa hawana pesa _____ 9 __ -kutosha. 

Tafadhali 10 �------ masomo yetu. 

1. A.mfugaji

2. · A.mbili

3. A.matunda

4. A.yake

S. A. anapoleta 

6. A. wote

7. A. nyingi

8. A.kupata

9. A. wa

l 0. A. tukirnaliza

B. dereva

B. wawili

B.mifuko

B.zake

B. anazopata

B. lote 

B.mengi

B.kukosa

B.la

B. ttmamaliza

C.mwizi

C.wambili

C. vitu

C. wake

C. anachopata 

C. yote

C. wengi

\ C.mapato

C.za

C. tutamaliza

D. utingo 

D.kipili 

D.maembe

D.chake

D. anaopata

D.mote.

D.kin�

D. wingiwa

D.ya

D. tulimaliza

Vijiji ______ l __ l ___ _ wilaya 12 vimebaki kama 13 
·--------

na wakazi hawawezikwenda 

mahali 14 
---------

kwa sababu ya kuzingirwa na mafuriko. Tangu mvua 

taabu. 

11. A. ya B. vya C.za

12. A.huo B.hio C.hiyo

13. A.visima B. viziwa C.vizima

14. A. popote B.yoyote C. lolote 

15. A.liame B.uanze C.ianze

.' 

...,_ ____ l_S ___ kunesha warriepata 

D.wa

D.huyo

D. visiwa 

D. wowote

D.yaanze
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SCIENCE 

 

Time: 1 hour 40 min 

Which vaccine leaves a permanent scar on the ann 

of an infant? 

A.DDP

C. Antimeasles

B.BCG

D. Polio

The anthers are held in position by the 

A. ovary B. filaments

C. style D. stalk

Which pair of non-green plants are useful? 

A. Penicillium and yeast

B. Mushroom and toadstool

C. Pine and yeast

D. Penicillium and dandruffs

Which of the following is NOT a rotational type of 

grazing? 

A. Tethering

C.Herding

B. Strip grazing 

D. Paddocking

Std 5 pupils set up the experiment as shown below 

to investigat� capillarity in soils. 

p 

. . .. . . . . . . . 

Q 

. 
. 
. 

R 

. . .. . . . . . 
. . 

. . . . 
. 

. . .
. . .. 
. .. . .  

i-,,' .....,• ,-;• ,....__ __ Level of water

. . 
.... .. ..

Cotton 11001 

Container 

with 1\ater 

From the observations made, it is TRUE to say 

that soil 

A. R had larger particles than Q

B. P has the smallest particles

C. Q would feel rough between fingers

D. P would be the best for growing crops.

Which part of the flower does NOT dry up after 

fertilisation? 

, 

7. 

8. 

9. 

A. petals

C. sepa}s

B.stigma

D. anthers

Which one is NOT a function of the nose during 

inhalation? 

A. Filtering dust

C. Warming the air

B. Trapping moisture

D. Moistering the air

WhichstatementisCORRECTaboutachameleon? 

A. It lays eggs B. It is a mammal

C. It gives birth D. It has a moist skin

Sound travels BEST in 

A. liquids

C. vacuum 

B. gases

D. solids

10. Std 6 pupils set up an experiment as shown' below

to investigate conditions necessary for gennination.

Wet cotton 

wool 

Bean seed 

If the above apparatus were put in a refrigerator, 

which condition were the pupils investigating? 

A. Air B. Moisture 

C. Soil D.Wannth 

11. Which one of the following is NOT a change of

state?

A. Melting cooking fat

B. Boiling \Vater to steam

C. Freezing water

D. Burning a paper to ash 

12. Plants were grouped as shown in the diagram below

PLANTS 

I 
Green plants Non-green plants 

Mango Mai1e Lichens Fern Toadstool Moulds 
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MATHEMATICS Time: 2Hours 

1. Which of the numbers is thirteen million three hmdred

and thirteen thousand and thirteen?

A. 13331013

B. 13313013

C. 13313103

D. 1331313

2. What is the GCO of24,36,and 60?

A.12 ·B. 360

C.24 0.6 

3. Work out the total value of digit 6 in the sum of 6784

and 9244.

A.Hundreds

C.Six thousand
4. Work out: -

31/
4
+ 2 1/2 

A. 13

/10

B: Thousands 

D. Tens of thousands

C. 101
13 

D. 8/65 

5. Calculate the area of the triangle.

A.192cm2

C.96cm2

B. 38cm2

D.240cm2 

6. How much more is the total value of digit 4 more

than the total value of digit 2 in the number 6843:20?

A. 3900

C. 216
B. 3980

D.200

7. What is the reciprocal of 43/�?

B. '/ 1<> 

D. i;
1
9 

8. What is the smallest number that must be added to

9596 to make it divisible by 8? 

A .. 3 

C.5

B. 4 

D.2

9. Okindo bought a shirt for sh 800 and later sold it for

- sh 880. Calculate his percentage profit

A. 20% B. 800/4

C. 10% D. 9 1/
1 0%

10. The area ofa triangle is 108 cm2 • Its height measures

18cm. What is its. base?
. A.24cm 

C. 12cm

B. 18cm

0.6cm 

11. A' bus left Nairobi at 8.40 a.m. It took 5h 30min to

· travel to Mutito Andei. At what time did it reach

Mutito Andei?

A.2.I0p.m

C. 2.lOa.m

B. l.IOp.m

D.2.30p.m

12. The area ofa square is 576cm2
• \vbat is the perimeter

of the square?

A.2304cm

C.96cm

8.24cm 

D. 48cm

13. What is 3/5 expressed as a percentage?
A.20%
C. 40%

B.80%

D.60%

14. The diagram belowshows a magic square. Calculate

the product of the values ofX and Y?
X 

.., 

_) 

4 

A. 480

C. 56

6 

5 y 

B. 14

D. 40
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ENGLISH 
Time: lhour 40 minutes 

Choose the most appropriate alternative to fill the blank spaces numbered 1-15. 

There are three flowers -"'"1 _ .... I love. These are the daisy, the lily . 2 the rose. The daisy is beautiful, but 

it is not as ____ 3_ as the lily. The most beautiful 4 the three is the rose. 

5 petals, ---6---_are red, yellow or white, are very pretty. In addition, the rose has the_· _7_. ___ smell. ------ · I 

1. A.those

2. A.aswell

3. A. beautiful

4. A than

5. It is

6. A whom

7. A.nicest 

The Nairobi team 

goals had 11 

B. who C. these

B.also C. and

B.more C. most beautiful

B. for C. of

B. Its C. It

B. what C.these

B.nice C. nicer 

----

8 leading by two goals 9 the one scored 

scored by __ 1 __ 2 ____ team-captain, Mutegi Mukasi. 

D. that

D. in addition

D. beautifully

D.from

D. It's

D. which

D. best

10 the Mombasa team. The 

Towards the end ___ 1"""3 ___ the match, __ 14 _____ • the Mombasa team scored t\vo goals and 15 

the game. 

8. · A was

9. A into

10. A with

11. A were

12. A a

13. A of

14. A therefore

15. A. \\ins

• 

B. has

B. because

B. through

B.been

B.any

B. with

B. so

B. won

C. is D. would

C. to D. with

C. by· D. over

C. being D.was

C.as D. the

C. for D. to

C. then D. hov,ever

C.winning D. \Vin
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SOCIAL STUDIES Time: -2houn:15Min

-

KIG-C> 
ranch 

IVll&slo,n 
station 

.c::::;:;, Cattle dip 

-

-
- _C:h.Jary 

.. 
SCALE: 

2. 

3. 

4. 

s. 

.l 6.
'· 

7. 

0 1 2 3 

== � Tar.mac:: rC>Etcl 

......... ___,.Ft.ailway 

4 

c::::::J -Rermanent buildings 

� -Hill 

� -F9rest 

� _scSttered -trees, 

;:r.. _ Temple 
••• --setU.ement 

5 e 

quarry•"-""•-· ..... 
B.-South East 

C. North west D. North East

7 10 

C::::H - Ce>urt hc:::tu&e, 

LC:: _ Level crossing 

IVlkt - l'Vta·rket 

KIVI 

CC -- Ce>un1:ry CorT,miss&.on 

PS _ Police, s_tation 

sch _ Sct-.ool 

HC>SP___.,...ospital 
---C:::- ---,- River 

D. South West to North East

The approximate length of the railway line in Kitindo
is about 

The diagram below represents a landscape use 
it to answer ·question 8 and 9 

-----
A. 6km B. 7km
C. 8km f); 9-km 
The main type of natural vegetation in the area covered 
by themapis 
A. scattered tree B. swamps
- C. scrub D. forest-
The following economic activities are carried out in
Kitindo area except
A. trading B.r$ing
C. cattle keeping - D.fisbing
The distribution of settlement in Kitindo area <.!an
mainly be described as
A. dense B. clustered
C. dispersed D. linear
Three of the following social services are available in
Kitindo area. Which one is NOT?
A. religious services B. educatiooalservices
C. recreational services D. health services
The land in Kitindo area slopes from
A. North East to West
B. West to North East
C. South East to South West

8. 

9. 

10. 

' 

11. 

l 
00 o-

/// 

xx. x.

/ / 

X. X X

The landscape was formeq as a result of 
A. faulting B.erosion
C. volcanic activity D. desposition
Which one of the following mountains was formed as

. a result of the process? 
A. Mount Meru R Mount Elgon 
C. Mount Ruwenzori D. Mount Kenya
Which one of following communities in Kenya was
ruled by kings during the pre-colonial period?
A. Ameru · B. Abawanga
C. Agikuyu -- n Somali 
Which one of the following weather recording 
instrument is correctly matched with the element of 
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STEGA SERIES 

KISW.AHILI SEHEMU YA PILI: INSHA 

MUDA:DAK40 

Kamilisha insha ifuatayo ukitumia maneno yako mwenyewe na:uifanya ya kufurahisha uwezavyo. 

• 

H 
- . 

a po zama za zaman1 ..............................................•............................... · ................... .



NAME 

'NAME OF YOUR SCHOOL 

STEGA SERIES 

. ENGLISH SECTION B: COMPOSITION 

STD 6  Time: 40Mins 

Write an interesting story about: · · 

A FUNERAL I ATTENDED 
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